N = 0l & At & M A

SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
1,326,162 1,227,497 98,665
OFE NMHIA HZ(22Y) 273,059 202,294 70,765
Mol A2H 29 273,059 202,294 70,765
H2d & 2Ae(22d) 36,068 34,568 1,500
206 X 24l 8,000 6,500 1,500
01 MZHl 8,000 6,500 1,500
oY g K2 ZA 4,500,000 4,500 3,000 1,500
SIAL L FHH RB(LSH) 96,131 26,866 69,265
201 LEt2 A H| 26,665 25,400 1,265
02 B2 ZH| 26,665 25,400 1,265
OLEMNEE HIR2 30,0008 » 5% 150 0 150
OLEH NEBHEE 2223 1,115 0 1,115
aplier= 200,000 * 5% 1,000 0 1,000
“Ha)| UAxE 23,0002 * 104 * 58 115 0 115
401 Al 2 HIZ 201 68,000 0 68,000
01 Al&H| 68,000 0 68,000
OA/IEALQIEI2I O 2 AL 20,000 0 20,000
OAMPAETD HBEAX 2 A 30,000 0 30,000
O 22t0E A=A 15,000 0 15,000
OMBEEHEE SXUE 22 A 3,000 0 3,000
o BAlO XYL (A2H) 785,000 765,000 20,000
As XA (a2H) 785,000 765,000 20,000
A2 Fo=2AAY(ZSH) 712,000 712,000 0
401 Al Y2 20| 712,000 712,000 0
01 Al&H| 712,000 712,000 0
OAIH BH2=2Fd(L=150m) & & 9,536,000 9,536 13,000 N3,464
OBt0l A Hi==2 A HIl (L=130m)
23X 13,756,000 13,756 20,000 NB,244
OXOIE Hi =2 FHI(L=150m)
23 14,000,000 14,000 15,000 21,000
O&X A =2 A (L=180m) ZA 27,330,000 27,330 30,000 A2,670
O 0HE HH<%=2FHl(L=80m)
ZH 15,000,000 15,000 26,000 A 11,000
OZ® H2=2F U (L=150m) Z & 12,979,000 12,979 11,000 1,979
OCHoIS DS o2 M 27| (L=620m)
23X 38,043,000 38,043 32,000 6,043
OY2S Hi==2 A HI (L=200m)
23X 12,173,000 12,173 19,000 AB,827
OAID| D2 2H2 &M 27| (L=400m)
23X 43,211,000 43,211 38,000 5,211




2N 22
o FoIBO BAO KAWL (LEH)
Sl REUS NN (Z2D) (er:@e)
SA - BAEH) - NRAY - LS 0l &k 24 o1 E o HRE2
07238 th== 288 (L=90m)
23 21,113,008 21,113 22,000 ~887
O3 B+2FHl(L=150n) ZF 13,905,0008 13,905 17,000 £3,095
OR% Bi+ZFHl(L=250n) ZF 20,019,0002 20,019 22,000 A1,981
OU4 S s2EF(L=15on) ZF 28,116,008 28,116 30,000 ~1,884
OR0IE DS e %4 2 I (L=180m)
33 29,267,002 29,267 31,000 ~1,733
OHE DHSeH2 % 4 2] (L=500m)
3 34,557,002 34,557 42,000 A7,443
OZE DHSH2 %4 21 (L=350m)
33 21,361,008 21,361 22,000 £639
Osel s2 T (L=150m) 23 o2 0 20,000 20,000
OF® B+2FHl(L=150n) FF 12,100,0002 2,100 20,000 A7,900
Osrg Bi+2Ful(L=160n) ZF 11,200,0008 1,200 15,000 £.3,800
Oufg =2EH(L=130m) ZF 13,279,008 13,279 15,000 A1,721
OBHE S b 42 J Hi (L=250m)
AT 14,000,002 14,000 15,000 A1,000
Outg OtARR ML th+ 2T
23 51,981,002 51,981 48,000 3,981
OZS bi42F bl (L=200m) 33 0¥ 0 30,000 30,000
OTh& S b+ 2 X bl (L=200m)
23 15,000,002 15,000 20,000 A5,000
ONE s2EH(L=150m) Z 26,258,0008 26,258 28,000 A1,742
OdI| Z2EF(L=100m)  ZF 13,900,0008! 13,900 20,000 £6,100
OR0lg DHSFUI(14) 2 13,900,0008 13,900 15,000 A1,100
ORMWH =2 T F(L=100m) 23 02 0 15,000 15,000
Ourg DS EHI(14) 23 13,500,002 3,500 15,000 A1,500
ORE DS EHI(14]) I 15,000,002 15,000 16,000 £1,000
OAIIOHSFHI B AH(14) 14,000 0 4,000
OZ XA b 4 2 3 HI 2 A (L=90m) 7.200 0 7,200
OLh& SOHS I HIBAH(14]) 14,000 0 14,000
OM O+ 2 FHI T A(14]) 13,900 0 3,900
OLEBANFUESNELBA(14]) 4,710 0 4,710
OB OHS I BHAI S HHI B AH(1A]) 2,200 0 2,200
O&II2AGHE B HIBAH(14]) 3,150 0 3,150
ONDHOFSFHI B AH(14)) 3,000 0 13,000
OBH0I & th 4 2 & I 2 At (L=90m) 10,356 0 10,356
OB SOHS T HIBAH(14]) 20,000 0 20,000
O&I710S O+ & M 2 T B AH(L=250m) 15,000 0 15,000
HES SXB(LB) 73,000 53,000 20,000
401 Al I L = CH | 37,000 7,000 20,000
01 Al&H] 37,000 17,000 20,000
Os&EIIZ2SEs RAE= Z & 37,000,000& 37,000 17,000 20,000
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